	In a balanced chemical equation, the total mass of reactants equals the total mass of products. 
 

	One mole of NH3(g) molecules contains one mole of nitrogen atoms and three moles of hydrogen atoms. 
 

	One mole of CO2(g) molecules contains 6.02  1023 CO2(g) molecules. [image: image1.wmf]


 

	The atomic mass unit is equal to the mass of 12 carbon-12 atoms. 
 

	The isotopes of an element differ by the number of protons in the nucleus. 
 

	If the atomic mass of chlorine is 35.5 u/atom, the molar mass of chlorine is 35.5 g/mol
 

	Molecular elements contain two or more atoms of the same element. 
 

	The law of constant composition states that compounds contain atoms in fixed proportions

	A combustion analyzer measures the molar mass of a compound. 
 

	The information provided by a combustion analyzer and mass spectrometer may be used to determine the molecular formula of a compound
 

	If the molecular formula of a compound is C3H8NS, then its empirical formula is also C3H8NS
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